18.

From the following balance sheet compute gross working capital

and Net working capital.

Liabilities - Amount Assets Amount
Share capital 9,00,000 Fixed assets 7,00,000
Reserves ' 1,00,000 Current assets :

Current liabilities: Cash 60,000
Bank loan 1,00,000 Investments - 1,00,000
Creditors 60,000 Debtors = 1,40,000
Bills payable 40,000 Inventory 2,00,000

12,00,000 12,00,000

Epsan. Gouufeos GHLdSGEs Gurss paLpmp G
LHmD FET FoLpan WPEme SamsLeb.

QumgitiLyser - Qzmens QFrggIHa6T - Qsrans
LBIGS® | 9,00,000 Bloe Carsgibse 7,00,000
sy ’ ) 1,00,000 pLuy Qsmsgisser :

BLOY @un@gum: . Qurési 60,000
curtid] sLein ’ | 1,00,000 556 1,00,000
%L@'f’gb@gnr’ram 60,000 &Lamaflsar 1,40,000
Qs@isgisp &N wrHRE S0 40,000 ETEE@UY 2,00,000

19.

12,00,000 12,00,000

A r:roje;:t cost Rs. 20,00,000 and yield annuall& a profit of
Rs. 3,00,000 after depreciation at 10% but before tax of 50%.
Calculate the pay-back period.
S wduSe . 20,00,000, 10%, CsiwrasHbE et 50%
awflé@ et yamB eu@pwreand . 3,00,000 a;x,@m S(mbu
QeqsgId HTSMSE SamadHa.

4 - 62550/CZ25D

20.

21.

22.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE"questions.

What are the various functions of financial management?
8 Cuararenwufer LoGaup Lamflsdr wraney ?
Following information is available with fegards to the capital
structure of Edwards Ltd:
Amount After tax cost of capital %
Rs.
Debentures ' 12,00,000 5%
Preference share capital 4,00,000 10%
Equity share capital 8,00,000 15%
Rétained earnings ~ 16,00,000 12%
You are required to calculate weighted average cost of capital
(WACC).
Qeeu(mLd SHeUDSET Tl Ui Hipeuatslern ¢pegear SieLoLILmED.
@znrens auffid@ Ger -
. UBIGPSS iLss lEsD %
sLan Lsglyhiser 12,00,000 5%
perg@ifian LEIEWsD 4,00,000 10%
Cpiienols LIBiGPEHD 8,00,000 15%
sé&s@aubsILILL aumorand 16 00,000 12%

e iuc L ggrefl apegear LSS sarss[Hs.

Details regarding three compaﬁies are given below:

. N Ltd M Ltd G Ltd
r=18% r=20% r=8%
k=15% k=20% k=10%
E=Rs.30 E=Rs. 40 E=20%

By using Walter’s model, you are required to

(a) Calculate the value of an equity share of each of these
companies when dividend payout is

@ 30%,
(i) 60%,
(1) 100%
(b) Comment on the results drawn. -
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23.

ey fpeuarasaiier eleugmasdr G sruuL Hdrerg.
N Ltd - M Ltd G Ltd
r=18%  r=20% r=8%
k=15% k=20% k=10%
E=Rs.30 E=Rs. 40 E=20%
aumoLf wrfflawu vwau@ss, Sparaun papuled sarssbis. .
() @aQarnm fneagdar Cpiamwbl ukiEsallar WAL WHHID
| uksTeTWD Qequsgihd eldshn
@  30%,
(i)  60%,
(iii) 100%
() &GEE Pgo UDTUDSS SBS-

)

You are réquired to estimate its working capital requirements
from the following data; '

Projected annual sales Rs. 9,00,000
Percentage of nét profit to cost of sales . 20%
Average credit allowed to debtors " 1 month
Averagé credit allowed by creditors 2 months
Average stock carrying .

(in térms of sales requirements) : 2 + months

Add 10% to allow for contingencies.

e%g‘p&rr@nto aﬁ]éuqnha;mm Qe BOLP®D POSRT Ggm@a&@eﬁ
sam&dl(Hs. :

511'_|_L‘6h_|;||/_||_'_1_ au@Lpdly elpuenar - 5. 9,00,000
SILés edpuemanie Har oru sselldsn. 20%
sLamefl&@psE@ smefuns apssLIuLL STeh 1 wrgb
sLapCsmT cupkifl. grefl sreb 2 rghiseT

srs8muy syrefluns Qeqsgiso
(Apueen Caemaiuden ojg.LinanLufled) ‘ 2 £ wgrhiser
shQswers Cpmbd Qewveyserssts 10  sseigd  Csigs
@S EsLLHE DG -
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16.

17.

Find out the operating leverage from the following data.

Sales Rs. 50,000

Variable cost 60%

Fixed cost Rs. 12,000.
QerhssLl L ssaudsmas Qerar® Quiig QpbyGsmed
SaM&E L_6yLh.

eflpuienar ¢m. 50,000

Lorrg;ju(QLb Qe seT 60%

Hlenewiner GsweseT ¢ 12,000

The following data relates to Y’ 1td.

Earnings per share — Rs. 14

Capitalization rate — 15%

Rate of return — 20%

Determine the market priCel per share under Gordon’s model if

retention is

i

(a) 40% ;
(b) 60%: |
© 20%.

Qereumueney Y’ ﬂ@jmmsﬁcin S5HCUDSET
@(p unidler eumLoTeTd — ¢5. 14
ep@FTOWLIESD fHh — 15%

ﬁ@uu Nflgb — 20%

sri_er wrdflear & @ umdar shams LIHIGU FhsmebswH
pempulled Sioraflssaid. :

(M) 40% ;
(=) 60%;
(@) 20%.
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11,

2

13.

14.

15.

What do you understand by ‘Capital Budgeting Process’?

epagar eye-QFna; Sl Qeudweapeowu b eaearn Ufibs
Qarerdmmuy 2

What is pay-back period?

H(poL QeQISgh ST CTEmTed GTesa ?
SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Explain the objectives of financial management.

H8 Cuaramewuiar Crrsstsmar allaré@s.

Calculate the present value of the following inflows if the rate of
interest is 10%.
Year 1 2 3 4 5

Amount (Rs.) 5000 6000 7000 8000 9000
P.V. Factor at 10% .909 .826 .751 .683 .621
Spsam eurSgisenen epeLd g,mGurrcmgsu_J wéllienu sasH{Hs el

4z 10%.
auHLLD 1 2 3 4 5

Qgrens (¢m.) 5000 6000 7000 8000 9000

spCuresw LAY 909 826 .751 .683 .621
sryentl 10% :

A company offers for public equity shares of Rs. 10 each at a
premium of 10%. The company pays 5% of the issues price as
underwriting commission. The rate of dividend expected by
equity shares is 20%. -

You are required to calculate the cost of equity wills your cost be
different if the market value of equity share is Rs. 15.

@ Poeand . 10 wdiyeer Gprepol uUbiGSmar 10%
wpeoawsded QadkiGdpg. <isdE TWHIDS sbleger 5%
QasallS @ ofevawns sGAPg. afiumsgnd Coirewo unaJ@a;aﬂGrr
LRISTSTWD 20%.

DL sssHar LINSSD @ ukdflar pLUY sHeg LAIL @ 15,
sRELURG PSD SILESSME sansEE (s

2 62550/CZ25D

24.

Year.
~P.V. factor @ 15% 0.870 0.756 0.658 0.572 0.497 J0 432 (5376

Manikandan Ltd. is considering a proposal for the investment of
Rs. 6,560,000 on product development which is expected to
generate net cash inflows for 7 years as under.

Year Cash inflows
1 Nil
2,00,000
2,25,000
2,50,000
3,00,000
4,00,000
7 5,00,000

(=21 S VU R V]

The following table gives the present value of Re. 1 due in ‘0’
number of years.

1 2 0 3 4 5 6 o

The company’s cost of capital is 15%. Ascertain the net present
value.

enflsear e lSlGL. Gummer Guobumiger g 8@ 6,50,000

Wsdlgpens n SlLs@ms  sHSHD Gaalrew @5]60 7
e DESTE T LT aujesdT 2 (heurs@GashE SpeumLnm
erdlrumréa U O Engi.

@@ sy uewr eurey
1 , Nil

2,00,000
2,25,000
2,50,000
3,00,000
4,00,000

7 5,00,000
sHCGurengu wHLY sryerflger [emeumLwmm.

A Ot = W

() 1 2 3 4 5 6 g

gm@un@mgm ID@LJLI 0.870 0.756 0.658 0572 0.497 0.432 0.376
sryeniser 15%

gwgﬁw eLp@) csmn SLssF Qewa| 15% y@Wb. Hlar sHGuragw
LIGnL &emrds LG\.|LD
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Time : Three hours

10.

Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
"Answer any TEN questions.

Define financial management.

H& Cuerarann Qa&samrid S(Hs.
What is Compound value of money?
uent &l (b Lo;,ﬁuq' GTGUTDITE) GTGHTGUT ?
Write short note on ‘Risk and Return’.

Am @GPy euenys ‘@ usg wHmID Hmbu GumF’.
\
What is cost of capital?

epagansdlen Wemeamr QFwey erammmed eretren ?

What do you mean by optimum capital structure?

- Gungioner ieTey APOSET SiemLOLIL ;;ra'ﬂugsirr QuirpeT ereimen ?

Write note on financial leverage.

BHuQwied QpoLCare eratuisear Am GHILIL HHs.

‘What do you mean by dividend policy?

LBISTSTWSE QsTaTans eTetugen GummET wreaeu ?
Give the formula Walter’s model.

aumeLi orHfludlenr sweTUT® SmHs.

What is operating cycle?

Qewdpanp HPOWED CTETDTED CTETeT ?

Define working capital.

BOL (P (PS5 QOESEMD F(HE.

Ebhancal MMW

-~

‘Biom AlF

W



